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NEW YORK TIMES BESTSELLER

..there was a book that started out TR N 00 -z 1oxinc.
with four pictures: first there wasa =~ EEPRGET\IR- FEYNMANL
wind-up toy; then there was an w 7
automobile; then there was a boy EAC AN ———
riding a bicycle; then there was R O\
something else. And underneath each B e

picture, it said "What makes it go?"




"What makes it go? Everything goes because the sun is shining."

“The toy goes because the spring is wound up”

"How did the spring get would up“

"I wound it up”

"And how did you get moving?"

"Fmting"

"And food grows only because the sun is shining. So it's because the sun is shining that all
these things are moving"




What makes computers go?

One answer:
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What makes computers go: T
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oy haick to the beginning of carrent secti
i people.data.users:

response client.api.statuses.user_timeline.get(screen_name-i.scre
'Got', len(response.data), 'tweets from', i.screen_name
len(response.data) B
ltdate response.datal@] ['created_at']
ltdate2 datetime.strptime(ltdate, '%sa %b %d
today datetime.now()
howlong (today ltdate2) .days

howlong daywindow:

&///D

BH:%M:%S +0000 SsY'

i.screen_name, 'has tweeted in the past' , daywindow,
totaltweets len(response.data)
i response.data:
j.entities.urls:
k j.entities.urls:
newurl k['expanded_url']
urlset.add((newurl, j.user.screen_name))

i.screen_name, 'has not tweeted in the past', daywind

Programs

Transistors/memory



Claude Shannon | Information
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George Boole | Boolean Algebra
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Trinary Operator



